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Evaluate [S] for the pi-network of problem 4.7a when Z, = -j50 Q, Zg = 100 + ;40 €,
and Z() =50 Q.
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Method 1
Use equations from prior problem with Z, = -j50 Q and Z5 = 100 + ;40 Q.

ZA =50 ZB =100+ ;-40 Q 20 =50 Q

2 2 ¥
ZAT-7ZB - 7ZB-Z07 - 2-ZA-Z0"

S11:=
ZA%.ZB + 2.ZA-ZB-70 + 2.7A%.70 + ZB-70° + 2.ZA- 707
[' 2 2 )
a1 2\ZA"-7ZB + ZA-ZB-Z0 + ZA"-Z0 ( ZA-Z0 J
[ = ~ 2 ¥ ¥ I . . .
ZA%.ZB + 2.ZA-ZB-Z0 + 2.ZA*.Z0 + ZB-Z0° + 2.ZA.70° | \ZA LB+ ZA-Z0 + ZB-Z0
S12 := S21 §22 := S11
180
[|s11] = 0.66851 | arg(S11)-—— = —91.89652 deg
™
|s12] = 0.3326 | arg(sm-@ = —86.18593
T deg
[|s21] = 0.3326 | arg(szlj-@ = —86.18593
o deg
[|s22] = 0.66851 | arg($22 250 _ o1 80652
o deg
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=500 = 25 525 A

%y (100 4)40) (255 26) = 125+ IS n
Zin=iSoll1254;15) = 18.59 - ;4. 80F
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[ T - ///5’.5% 44, 857) F S0
Si T O.06B50% | -9 8W52° =Sny (symmetey)

S =17 - Cin-T (/8.5 -;44807) - 50

!fZIi Same C:f(,u,f_ Find V, = s ((/a/ﬁjc accoss Z,_=?:o>
in ferms of v T
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$21= 0332575 [(.185725° = Si5 (Symmetey)




